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1. How is the standard error of the mean affected by increasing the sample size from
100 to 25007 (10 43) :

2. Explain the following terms: (20 43})
2.1 statistics 2.2 parameters 2.3 population = 2.4 sample

3. Explain the following terms: (10 43)
3.1 variation 3.2 central tendency

»
4. Suppose that an economist wanted to use the yearly rate of productivity growth in the

Taiwan (X) to predict the percentage change in the Taiwan Stock Market Index (Y).
A regression model was fit with the following results:

A

Y'= 245%

What is the interpretation of this model? (10 43)
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